Order of Operations with Fractions (A)

MName: Date:

Solve each expression using the correct order-of operations.
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Order of Operations with Fractions (B)

Mame: Date:

Solve each expression using the correct order-of operations.
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Order of Operations with Decimals (A)

Name:

Date:

Solve each expression using the correct order-of operations.

(—7.8)° + (-5.3) x (-1.9)

§8257 40,607
= 66,32
(~4.7)* + 8.5 (;9.6}
=220 - 81,6
= =594
(—5.4) — (—4.6)" x (~2.5)
-S4 - (L) £(2.5)

YL B (‘*521‘?) = —-E!Ht;)'?
=475

6.7 x {~4.1) — {0.5)?
= <3¢ - 028
= -2

(-3.7) x (—2.9) — (~9.4)°

= (0,13 ~883¢

2.8 % ( B.6) — (—7.5)

= - |5, 68 — (2%
= -7193

(8.2+4(—1.9)Y = (- 2.7) |
:(6,77)13;’ (—QJ)
23969 1) = ~I¢ ]

(3.9)° - 5.7 x 7.8

=2\ ~ 44 ¢
= — 29>

(—1.6)2 — (—6.7) x (—8.8)

(—=7.6) x (—4.5) 4+ {—1.7)?

=30 +2.89
= 37,0?



Order of Operations with Decimals (B)

Name:

Date:

Solve each expression using the correct order of operations.

(—6.5) + (1.1)% ; { 2.2)
= =652 +622)
— -6r§" U'SS. |
=705

(44— (c2.1)) % 25

= (193208

= 2046 X2,5= 536
(-74)-(81)* +15 |

=LY —-£5.8+S

=04 =137y = Sl
(4.3 — (-3.3) x (-8.2)

= (8492700

= =55
(—6.3)* + 0.8 x 5.5

= 3969+4, ¢
= 44,01

(- 1.7 +47x97

=281 4557
= 4848

6.2 x 5.6+ (—2.5)°

=3 +6,25
= 4017

(—2.3} x 0.6 — {9.3)?

= -ng "?61'1[?
= ~$71.%7

(7.1 — 21 % 8.2

= 90'[” — [71 ‘2’2—

= 33,9

(001 (-37)") = (-3.5)
=(01413.60) % (3.5)

= 1377 5£35)=~3.9¢





